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PHYSICS 

1) In a N-P-N transistor about I 0 1 0 electrons enter the emitter in 2�ts. when it
is connected to a battery. Then IE= ____ µA.

(A) 200 __:\ , �
1: 

(B) 400
l)-� - I "I ,v 

Jef 800 {/f;, Y.. 10 'IIO )( £j 

(D) 1600 Q'.'>C ,o-e 

2) The effective length of a magnet is 31 .4 cm and its pole strength is 0.8 Am.
The magnetic moment. if it is bent in the f01m of a semicircle is ___ Am2

. 

�?., 

v-0-\) 1.6 ('.�)('.to 

(B) 1.2 { •;_ 

. (C) 0.16 

(D) 0.12

3) Equal cuITents are passing through two very long and straight parallel wires
in the same direction. They wil1 __ _

Wrepel each other

(B) attract each other

(C) lean towards each other

(D) neither attract nor repel each other

(Space for Rough Work) 
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4) A voltmeter of a very high resistance is joined in the circuit as shown in
figure. The voltage shown by this voltmeter will be __ _

(A) 6 V
�) 2.5V

6Q 

lOV

sn 

sn 

(B) 5 V
(D) 3 V

5) A galvanometer of resistance 50 Q is connected to a battery of 8 V along
with a resistance of 3950 .Q in series. A full scale deflection of 30 div is
obtained in the galvanometer. In order to reduce this deflection to 15 division,
the resistance in series should be ____ n
(A) 7900
(C) 2000

(B) 1950
(D) 7950

At a place on Earth, the vertical component of Earth's magnetic field is ✓3
times its horizontal component. The angle� at this place is
(A) 30° .__{BJ 60°

45° 

(D) 0° 

(Space for Rough Work) 
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7) Which gate can be obtained by shorting both the input terminals of a NOR
gate.
�OR (B) NOT
(C) AND (D) NAND

8) An optical fiber can offer a band width of ___ _
(A) 100 MHz (B) 100 GHz

(C) 750 :.tv1Hz (D) 250MHz

9) To transmit a signal of 3 KHz frequency, the minimum length of antenna is
___ km
(A) 20

(C) 50

(B) 25
(D) 75

10) 27 identical drops of mercury are charged simultaneously with the same
potential of 10 Volt. Assuming the drop to be spherical, if all the charged
drops are made to combine to form one large drop, then its potential wiU be
__ Volt.
(A) 90
(C) 160

(B) 40
um 10 

11) When 1019 electrons are removed from a neutral metal plate through some
process, the charge on it be.conies __ _
(A) -1.6 C
(C) 10 19 C
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�+·1.6C 
(D) I0- 19C
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